the % ol A o] S} 84 ¢

1o

D (x-3)(x+3) = 9x(x—2) — x
@ 3(4-x)=22+12—~x=0FE
® x-3)?=dx—x=1%Ex=9
@ (x+1)(x+2)=6—>x=-4%E

® (x—2)2=1—'x:1E—1‘:—x:3



OIAYA 2 - 2 - 15 = 0 9] TL FohH?

@ x=5x=-3 @ x=-5x=
® x=15 x=1 @ x=-3, x=-5

® x=-5 x=-3



rg n

?

@ 4x24+4x-40=0
® 4x2+4x-48=0

® 4x2 +4x-56 =0

43 45 5 202 5hH x2 9 AS7t 4 Q1 o] xHFA A

@ 4 +4x-44=0

@ 4x%2 +4x-52=0

o

tlo

=



4. xo] TR oIAHAA 242 — 11x+a =09] g 2ol 2 o, ¢ 9] FS
T-SFH?

@ 14 @ 13 @ 12 @ 11 ® 10



5.

OJZPYA A x2 - 5x—a =0 9

Fotofet.

D
=%

K3

1
i

S}
=

o, a+b 2 S



2x(x+3)=x* -1




A
<
olJ
i~
Nfo
<+
il

7 Ao ol 132 & o,

)
1jo
4
B

@ 11 ® 12 @ 13 ® 14

® 10



ol



—|'6_5H7]~ﬁ7/_1%9
L @ 2% -5x4+3=0
5 st

@ ¥ -dx+4=0
@ 3x2_10x+5:0



2x2 —ax+b =09 F £o] -2, - A W, a+b* 9] =

DN | =



11, OlAPSAA 22 —3ax+2 = 0 O 5 2] H7b1:2 7} Bl O] @2
B el

-

v
UL
Q
[

v
UL
Q
I



